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. Transplant PB fit to current Event
enerator

2. Simulate inclusive events, using
different nucleus
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Carbon Target
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Copper Target
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DIS vs PB
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SIDIS Hed target at EO=11GeV
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Distribution of Ratio
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The two models give different results,
ratio In common range Is about




Potential problems with
current model

* Coding errors when using cteqgb library

* Physics reasons when current model uses PDF fittings




summary

e successful software transplantation, producing
simulations that agree with data of different nucleus.

 Notable difference exits. 0.5~4 ratio iIn common range;
0~2.5 in other DIS range; 1 around W2~16




